EXHRERE  BAFBRERLFTE - Tt SEL S - BREAXHR  BEAHHE [EE] -6 —HHE -

B 8% = ARBREZEMBEER

LU ERBEA T AR 2 r] 3R & el FTECE] (2R i) & at FTE 5% T A R 2 Al (2 i
B KB AT HT) P ] gt AR & (R SCAEBER —) 19— a7t > AL R 255 8 I #
A o KREEE B M5 B AR IES LN [ B — BRI 88— P &t R
P

A, AEBRRELEABRBRLEERERR

PATR 7% ARAB A SR b T R RIS 7 3 Lk A R A SR B R SR A S AR A TR &
FE R > EALEW A IR T SCRL S 4R B8 R 2017479 H 30 H A 22 7] HE 4 £+F
A NEAEA LA L G FENRE > WINREC R % H T — -

B ] 2 R BER A P S A T (R R A AR R Ak A - L el R
RSP B % - R 0 W] U SO WA B A 20174E9 H 30 H 8RR AR H ) 2 £5 & A
B FHE o A5 FUOR KE3 % M 75 KC o A T2 7 TR (R YRS AR 2w wt B o
(A SCHA AR ST B%—) BB R R 20174F9 H 30 H AR 2 mIE 2 15 A A AL A 4 8] 22 48
TG ALEEFERR - W CAE S TR  REFZM S KB A Y G R E
IR A R wH RS ) — AR o

R2017%
9H30H RAEER
AT ER BEAEWN
BEAEWN rEH BR
rEE REER REER

REREE [mEMTT RECHE  RELHER
BREERE (4w %] BWEERE BREEFE

Fior Fior Fior W r
(Mt#E1) (Wf7E2) (Kt#E3)
i E 3kE90d
(w5 eET A 10,245 FEY EED EE Y
Evdr E - 3kE9

[(#mE B CE A 10,245 EEY EEY EZEY

= 1-1 -



EXHRERE  BAFBRERLFTE - Tt SEL S - BREAXHR  BEAHHE [EE] -6 —HHE -

B 8% = ARBREZEMBEER

ey

2

3)

C))

R20174E9 FH 30 H A2 B HE 25 1A A RE NG AR 4 B R B B 45 A T 728 V(B 1 Bk 1) 7 STt i — i
2 AN TG EHETER G > TIRIEA20174E9 H 30 H A2 mIAE 85 154 AR AL A 4 [ S 8 i 4 B T
810,585,000k T & 52017459 A 30 H 94T & 7 340,000 TCAE H B FHE -

RENBR20174F9 H 30 H AR B9 it 60 8 22 1 S A 5 I FRL 3050 7 2 1) HOA A o (AR R > (R BE 1 o (AR 8E )
TR A B | 9% [ 4 R )15 BB AR B 1V T M (AR BEE JCRT 3 o IR S5 A Rl [ 4 B 10 J1e % R AR 7 S i
RERT B AT BB Hh A4 A f PSP 4 170 T T 3 2 BT A Ao B AR 2 RUARR R 7 HE S  — i
RETT RETC 9 e B84 U [ul ) AR T SR Ay

5 BB OR K A A % 6 A T S (L AR R (M R BB (DU 52 B A B ) L [ B 158 AR 1 T
FATH S BB ) FHE o Sl ME R A DRI R M SRR St ) T BB 432 1% 0 A ] M P RRE 4 17T T T 38 M
AT AL AT B 1 BOAR 2 W AR B4 7 3 S ) — JBCAE M ] BB T 8 2 3R AT O ] 9 A A e

R AEAE L R DA ST e A 4 [ 74 2011749 H 30 H A& B AT A1 32 5 &6 R 58 B i 7 i HoAthsg 5 -

- 1-2 -



EXHRERE  BAFBRERLFTE - Tt SEL S - BREAXHR  BEAHHE [EE] -6 —HHE -

B 8% = ARBREZEMBEER

EZES

- 11-3 -



EXHRERE  BAFBRERLFTE - Tt SEL S - BREAXHR  BEAHHE [EE] -6 —HHE -

B 8% = ARBREZEMBEER

EZES

— -4 -



EXHRERE  BAFBRERLFTE - Tt SEL S - BREAXHR  BEAHHE [EE] -6 —HHE -

B 8% = ARBREZEMBEER

EZES

- 11-5 -



